Multiplying Three Binomials (A)
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Simplify each expression.

(—2tt + 8%) (=6t 4+ 9t) (—9t* — 8t?)

(=323 — 92%)(52° — 82%)(—92° 4 42%)

- (8d* — 9d*)(—d? 4 2d)(—4d — 7)

(4y* — 6y°)(y° — 4y)(2y + 7)

(76 4 6¢)(6¢° + 4ch) (T + 2¢%)
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Multiplying Three Binomials (A) Answers

ot

Simplify each expression.

(—2tt + 8%) (=6t 4+ 9t) (—9t* — 8t?)

— —108t" + 498¢° — 120t% — 576¢7

(=32% — 929 (52° — 82%)(—92° + 42%)

— 135213 4+ 129212 — 73221 4 288,10

- (8d® — 9d*)(—d* + 2d)(—4d — 7)

— 32d5 — 44d° — 103d* + 126d°

Ayt —6y°) (v —4y)(2y + 7)

= 8y’ — 16y° — 106y° + 168y*

(76 4 6¢)(6¢° + 4ch) (T + 2¢2)

= 294¢" + 532¢° + 296¢° + 48¢7
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